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[Time: 2 Hours] [Marks:60]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

A. “Equilibrium level of income and output is determined by the interaction of aggregate demand and 08
aggregate supply function”. Discuss.
B. Examine keynes’ concept of inflationary gap. What causes inflationary gap? 07
OR
C. Bring out the relationship between inflation and unemployment in the short run. 07
D. Explain the trade-off between inflation and unemployment in the long run with the help of Phillip’s 08
curve.
A. Explain goods market equilibrium with the help of IS function. What causes shift in the IS function? 08
B. Explain money market equilibrium and derive LM function. What determines the slope of LM function? 07
OR
C Examine the effect of increase in government spending and tax rates on income and interest rates in 08
the I1S-LM model.
D. Bring out the effect of monetary policy on income and interest rates in the IS-LM model. 07
A. Discuss expenditure changing policies to correct disequilibrium in the balance of payments. 08
B. Discuss the right policy mix for correcting internal and external disequilibrium with the help of 07
Mundell- Fleming model.
OR
C. Explain meaning of devaluation and revaluation. Examine the elasticity and absorption approaches. 08
D. Examine the J-curve phenomenon following devaluation or depreciation of the currency. 07
A. Select the correct answer and rewrite the following statements: 07
(i) The total money value of goods and services produced by the nationals during a given year is
known as
a) NDP
b) GNI
c) GDP
d) None of the above
(ii) In developing countries measurement of national income involves problems like
a) Prevalence of non-monetized sector
b) Lack of adequate statistical data
c) Lack of proper accounting practices
d) All of the above
1
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(iii)

(iv)

(v)

(vi)

(vii)
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Gross Domestic Product in an open economy includes
a) C+l+G+X
b) C+I+G+(X+M)
c) C+l+G+(X-M)+(R-P)
d) None of the above

GDP deflator indicates

a) Nominal progress in the economy
b) Real progressin the economy

c) Rate of deflation in the economy
d) None of the above.

Real interest rate explains changes in
a) Purchasing power

b) Money income

c) Rate of inflation

d) None of the above

India ranks among

a) Low human development group

b) High human development group

c) Very high human development group
d) Medium human development group

Gll Measures gender disparities in
a) Reproductive health

b) Empowerment

c) Labour market participation
d) All of the above

B. Validate the following statements:

(i)

(i)
(iii)
(iv)

GDP includes income earned by nationals living abroad.

GDP deflator is used to work out real GDP.

Capital inflows are due to high real interest rate in a country.
Disempowerment of women will improve GDI of a country.

OR

Write Short notes on any three:

(i)

(ii)
(iii)
(iv)
(v)

Income and expenditure methods of measuring national income
HDI and its limitations

Determinants of aggregate demand

Applicability of IS-LM in India for the period 1995-96 to 2005-06
Effect of tight money policy on the balance of payments
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. ¢, |a wea faard .
. ISR 3 AT YA ot o7 E AT
3. TS dY Fah AT Flal.

3. “HHAY HAEON Befel HOT FHY AT helel I TRERTHAA 3ot 0T 3cdrced
A Il Rfdelr ST, I TIST .
9. heddl HAER IR FohoUa] TIST FT T AL IR HIROT FAT.
frar
. FeURIBIdlel Teleldle AT sRISIRT Ticiiel YT 3TerdT £,

ol

ol

3. AUHIST Toleddie 0T SUSTINT ATl THRNST ooy Jehiedl TERA TS T, °¢

H. IS TEhRAT HERATA a¥] Aol FHdAIA TISC 1. IS ThHLY dgel GIUART HROT HIOTAl  o¢
3T I TS .
9. HGT SoR FHAS IS 7 0T LM Holel HET &Y. LM a5 AR €& Hord o °b
I,
forar
&. IS-LM fdATAHED 3cdest JHITOT SATSIERIaR. IRRT W 0T AT I dIeuR aRomd o¢
I,
g, IS-LM YfaaATI#HES 3cUes] HIOT SATole ATaX Tl [dugeh YRUMAT GRUMH TIST HT. oly
3. SYAGRIANTATS HAA &Y FUITHIST Wil s eicar €O =l . o¢
9. HSol TR GfTHAIATIT TR AN MO FET A G OIS J9y oly
GROTIT AT Trar .
frar
. HAHIA 30T Yeadledel Irar 3 @M 0T STafdehel 30T FHATIASSAT (absorption) o¢
TSRl TISC .
S, Tl HaHTAHDS ) dehra qoieT fohar fEuel Tse . ol
3
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T I fAgsT: ol
TohT aWTEAT SIdTcl ST H a&c] MOT {ar I JeuTeliel HoT Fgoloid

3) fAcde ariadtd 3cures

) TYd fAcds 3ot

&) T ST 3cdreet

) Irdhr ATEr.

IRTad AT TET 3ol ATYATHEY AT JATAAT FATALA AL
31) 3-HeT AR AT

) T HTETHT AT 33

&) AT AU ggdrdr AT

) gl 9q

Gedl HITaEIALY Tl AT ScUIGATHE AT 3.
31) C+I+G+X
§) C+l+G+(X+M)

&) C++G+(X-M)+(R-P)

) IrdFr AT

YT AT Jeuieel faemrere axifaar
37) FVeTaed=T FATT Y9I

) 3T areda Jard

%) IFaEAClel TelTprdoarar HaT &I
3) I AT

gIEdd egTeley . Arel dcoT TUSE Hdl.
3) WY LAy

§) Tl 3ot

%) Teleldlerdl &3

) IThT ATRr

HIATT TS ALY 3TE.
37) AT AT AR ITC
d) S HAlId ey 91
&) fased Aa G 3e
3) HEYH A G e

4
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) ol fawaAar @Adens, oo (YA ATgT . ALY S,

31) Yot: 3culd 3RITY
d) HelellehioT
&) HH TR TgHTT
g) gl 99
9. @relie Tt geaar e ger: o¢
37) TP AT ScIEAHEY HARAAA TREATA [ ABTeAedT Scde~Trdl FHG grell.
o) T RN Sculet [asireieh € arecd TYel QRN 3cdIesl HGUATHTS! el S,
o) cRITcler 3 A SATSIeHS HISAeTT JaTg Bl
5) darchel felmmerdia faera fdene (GDI) HETeTear JHTelHONHb FER.
frar
29

fear foreT (Foraardr dis):
2) TUSERT 3cUoed HATIATAT 3cbeal 30T W TGl

) Aot fashra fadere 3for e #4fer
3) gAF ARTON Gerard fAUlia gesh
¥) $TRCITCel ¢9%4-Q€ T 009-0€ AT HIBIcllel IS-LM FTTHTAT Iugerccl

) cgagRAreTadier JgeT 4ar gRvmar gRkons
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